ATB® 2025 Heavy Truck & Trailer Catalog

M3000 Series = C-Frame Mount Application. Z;r.
olts

Hookor direct mount brackets are heavy duty, and used to mount boxes direct to C- o

frame applications. All AMERICAN TRUCKBOXES mounting kits are designed W B0

and built to keep your boxes safe and secure
Description romin ) 8 Nuts
M3000C Ki
« Steel construction =

* Zinc epoxy primer with MR powder baked topcoat finish »
* Hook system (M3000H) requires no drilling to truck frame. ,,B

Part Weight Load )

Number Box Series i Per Set Rating 90 ”
1 M3000C SB 1A 21bs. | 150 Ibs. Max M3000H Y M3050C
2. M3000H SB 5/8” —4.5” 5 Ibs. 150 lbs. Max —
3. M3001H SB 5/8” — 6.0” 6 lbs. 150 lbs. Max - 9
4 M3050C SF-SO-BB 5/8” 20 Ibs. | 250 Ibs. Max 4 Bolts and Nuts
5 M3120D DP-TC 5/16” 18 1bs. | 100 Ibs. Max ek

M3120D Kit

M3200 Series = Top Deck Mount Application

Top deck mount brackets are used for mounting boxes to a deck or flat surface. All
AMERICAN TRUCKBOXES mounting Kkits are designed and built to keep your

boxes safe and secure. [
» Fasteners and rubber =
* Requires drilling on box and mounting surface § Washers W aahors
Weight &

Box Series i Per Set 4 Vuts 4 Nuts

1. | M3200D TC Chest Boxes 5/16” 21bs. | Bolt-N/A B e Rt

2. | M3200D-DU2 TC Chest Boxes 5/16” 4 Ibs. Bolt-N/A M3200D-DU

3 M3200D-DU3 TC Chest Boxes 5/16” 6 Ibs. Bolt-N/A M3200D Kit

M3400 Series = C-Frame Mount Application.

Mounting brackets are used to mount rack and cargo boxes to C-frame on truck. All
AMERICAN TRUCKBOXES mounting Kits are designed and built to keep your
boxes safe and secure. T
Description 1 ol
* Steel construction 1 \:;::rs
e Zinc epoxy primer with MR powder baked topcoat finish 8 R“bb"r 4Plates g o Q
* U-Bolt system requires no drilling to frame w
Part Weight Load _ M34 I Yssts
Number Box Series i Per Set Rating % ‘\% i
1. | M34001-62 RB-Rack-Beam 5/8” | 221bs. | U-Bolt-N/A 4 Brackes | 4 Bolts
2. | M34001-75 RB-Rack-Beam 3/4” | 281bs. | U-Bolt-N/A p— ‘ g ©
3. M34101 RB-Rack-Beam 1/2” 12 1bs. Clamp-N/A - 16 Washers
4 M3400L Frame-Flush 12" 6 lbs. Clamp-N/A . - ‘
5. | M3450C 4=U-Bolts, Washer — Nuts- | 5/8" | 12 Ibs. | U-BoltN/A M34001 Kit o e () 8 Nuts
Rubber - 3-5/8”CC x 14-1/4”ID M3400L Kit
6. M3452C 4=U-Bolts, Washer — Nuts - 5/8” | 181bs. | U-Bolt-N/A
Rubber - Plates
3-5/8”CC x 14-1/4” 1D SL-Bolty
7. M3454C CP Boxes - U-Bolt Mount Kit | 5/8” | 241bs. | U-Bolt-N/A m b
W/Springs
4-1/4"CC x 15-3/8” 1D
CP Boxes

M3452C Kit 4 Plates

Web Page: www.truckbox.com ©2025 American Truckboxes, LLC. Made in USA Page 34



